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old-A) Slving Py omials

D 1bx* -¢x=0 @ x*-4=0 ) ¥2 45x = 14
Ix(2x-1)=0 (x12) (x-2)=0 X2+ 5x-14=0
A=0, 5 X=r2,2 (x+P(x-2)=D

x=-% 2
@:@ These slulimy reprecents e x-Itrcepts (or 2o, vovts) of fhe gmp}\;_
Crashing Rafional,

Lets consider the radimal, fundion fix) = (<2) (<42)  ef% look o the 9aph

X+
% analyze.

* The verkeal asymptdte s ot x= -1
» The 2ov0s (x-Inforcepts) are x=-2 and.
X=3.

/ where dothe Vakes gomefomy (alggbraical?

~ 20005 ovee from The numerader being

& et eapal 19 0.
| / denminador beiny get equal o 0.
|
let's gonoval e
kel Funchin =5 £60. £09=0 will getthe x-irtoeqts.

g 9<)=0 will yet The \erRcal, asyrptte.
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[Examples] ldentify the 2w & vorteal asympttes

@ Jc(x) = xE+3x-% 2n04" verk cal asymplotcs.
X +3 x2+3x-4=0 X+3:=0
(x+4) (x-2) =0 X=-3.
X=-%,1
40 (4.9
@ 400 X 47xtb o5 Vool asymphtes
X-5 X"+ xtb=D X-5=0
(Xth ) (xtD=D X=5.
X="( L -1
69 1D

Horzmial figympistee, 5-ih+tf(n/(JJC
— To finds yintercepbs: substbee 0 i for X and gvaluate.
— Tofind the hordwtul agymptoles © expand the oolpamidls the unofader

N
a) If the degee i higher in the numerator —> No forinda | sy,
) If the degres 15 higher W the denominader = y=0.
O f edagree ts the same in tho numermbor L deniminglr
bl
@MmPLes] Determire the Y-itorapt, ytmerets, tomtal. fiym & verkeal, ﬁsﬂm.w
O fey=4 @O fw=-2 @ 09 2 e2x-15
x-2 x4 X -4
x-nt: (£ ,0) x-it: Nme x-int (6,00 B
wiit<(0,2) Uit (0-4) Y-t (0,339
e y=3 He: YD ft: y=1

VA x=2. Vs x=2, x=2. Voo x32) X352
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thles, Slant figymptste

Leks emsider £00= %12 & (9= él:g ~ Gragh & malyze.

/ / acts like x43
/ / bt x #3 (hele)

7 ¥

To iderbty “hles” i funchion, defermine the Tactots thak need. o be eliminaded in
Hhe numerater kdenmnader, Set that fadet equalto 0.

g x=-g . (X t3cd) o w3
Xx=3 = X3

X-3=0D
x =1 <—hle abx=3

(Exanples] Whare ove the sl in each?

D= (x3) = x3 @ 0= Dl44x - 204D
i %ﬁ)—@fﬂ) X1 f ;LTE»(?G_ (x2) (x13)

X+2=0 Xt2=0
% =-2 4 M %=-2 < el
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Slent froymptetes scuur when the desyer of the uawarater i< exuatty one. bigger than

Tre degree of-the denminator:
= To il the equatine, vof the slant o\j{mp&@fm, dwide the numerier
with the deomingter [Ling Phnomial Divisina ).

(Exanmples] find the Slant Asympiee.

@D 9&ax 2K=5 *2n
Xt XJer
), BIx
-SxtD
Box®S

Slant froym Eqpa: y=2x-5. E
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